SCK-CP3S - SCK-CP30 EIEIR Jimata TOHATSU

SCK-SP3S - SCK-SP30 B - 37 - WHEF
(us)
e § e
” & . - PN =B S
: - . Sl & B | ME | Ee
sy } s S45C RE |[HES|BR B
. SUS304 - |HEE|ERR
SUS304

pB:20~50 T

Sl 2
2B i
&
1 L/2 S
|~
L+0.1
CImEA BRI RY ZEE L
S45C SUS304 &= FL
= % mEeEE = ¥ mmeEn| C | " P Tspep 9 X | M

SCK1015CP3S A |SCK1015SP3S A 10 15 35 45 24 | 12.1 9.5 | 49.8 | M6x25
SCK1215CP3S A |SCK1215SP3S A 12 15 38 5.5 24 12.1 | 105 | 50 M6Xx25
SCK1515CP3S A |SCK1515SP3S A 15 15 40 66 | 28 | 12.1 | 12 53.4 | M6x32
SCK1615CP3S A |SCK1615SP3S A 16 15 42 66 | 28 | 12.1 | 12 545 | M6x32
SCK2015CP3S SBIR A |SCK2015SP3S SBIR A 20 15 46 66 | 34 | 12.1 | 14 53.9 | M6x32
SCK2515CP3S A |SCK2515SP3S A 25 15 50 66 | 38 | 12.1 | 165 | 55.6 | M6x32
SCK3015CP3S A |SCK3015SP3S A 30 15 56 66 | 44 | 12.1 | 19 59.1 | M6x40
SCK3520CP3S A |SCK3520SP3S A 35 20 65 6.6 | 48 | 14.1 | 225 | 60.7 | M6x40
SCK4020CP3S A |SCK4020SP3S A 40 20 70 6.6 | 56 | 14.1 | 25 65.4 | M6x50
SCK5020CP3S A |SCK5020SP3S A 50 20 85 6.6 | 68 | 14.1 | 295 | 72.7 | M6%X50
SCK1015CP30 A |SCK1015SP30 A 10 15 35 45 24 | 12.1 9.5 | 49.8 | M6x25
SCK1215CP30 A |SCK1215SP30 A 12 15 38 55 24 12.1 | 105 | 50 M6 %25
SCK1515CP30 A |SCK1515SP30 A 15 15 40 6.6 28 | 12.1 | 12 53.4 | M6x32
SCK1615CP30 A |SCK1615SP30 A 16 15 42 6.6 28 | 12.1 | 12 545 | M6x32
SCK2015CP30 g A |SCK2015SP30 o AN 20 15 46 66 | 34 | 12.1 | 14 53.9 | M6x32
SCK2515CP30 A |SCK2515SP30 A 25 15 50 66 | 38 | 12.1 | 165 | 55.6 | M6x32
SCK3015CP30 A |SCK3015SP30 A 30 15 56 6.6 | 44 | 12.1 | 19 59.1 | M6x40
SCK3520CP30 A |SCK3520SP30 A 35 20 65 6.6 | 48 | 14.1 | 225 | 60.7 | M6x40
SCK4020CP30 A |SCK4020SP30 A 40 20 70 6.6 | 56 | 14.1 | 25 65.4 | M6x50
SCK5020CP30 A |SCK5020SP30 A 50 20 85 6.6 68 | 14.1 | 295 | 72.7 | M6x50
m iE Ea ERE
MFHIHEESAS (N - m) e @ % | wEi[16 [F]

(15 7R TR BOHR L8R 51 0 DAKR

s SCK1015CP3S

SLETEHE 2




